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CHEMISTRY

MARKING SCHEME 

1. 
Period 3



(b) 
Y3-



(c )
Ionic radius is large because  incoming electrons are repelled  by the electrons already in energy 
                        levels.
2.
(a)  SO42-√1mk
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      (b) Ba2+(aq)  +  SO42-(aq)  

BaSO4(s)  √1mk
3. 
(i) K and M  √1mk    one stated no mark

        (ii) K√ ½ mk  and M√  ½ mk    Aluminium hydroxide  is amphoteric √1mk (i.e. reacts with both acids and bases)
4. a) States that rate of diffusion of a gas is inversly proportional to the square root of its density at constant temperature and pressure

   b) 
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Magnesium oxide (Mg0)



         [image: image2.png]


         50/t2 
= 0.707   t2=70.72
5.         (i)Zinc oxide 


(ii) 
Zn2+(aq)  +  2OH-(aq) 


Zn(OH)2(s)

(iii) 
Zn (NH3)42+
6. 
(a) 
flammable

(b)
barium and sulfur

both elements must be present for the mark

allow Ba and S

reject sulfide/sulfate reject if any other elements included

             (c       experiment involving handling H2S should be done in fume cupboard

do not inhale the gas
7. 
(a) 69 -31 = 38


(b) R.A.M of R = (61.3 x 69) + (38.7 x 71)



                    100




= 69.774

8. (i) covalent bond                           ii)
9. 
(i) 
KNO3(s) 

Heat 

KNO2(s)  +  O2(g)  (1


(ii) 
(NH4)2 CO3(s) 

Heat 

NH3(g)  + CO2(g)  + H2O(l)   (1


10. 
A bee sting produces an acidic (1 substance application of sodium hydrogen (1 carbonate, 

a base neutralizes the acid from the bee sting (1.

11. 
Na2O has a giant ionic structure with strong ionic or electrovalent bonds which need large amounts of heat to break hence high melting points. P4O10 has covalent bond with simple molecular structure(1

3. Alkali 




Al2O3(s)  +  2NaOH(aq)  +  3H2O(l)

2Na Al(OH)4 (1



Acid




Al2O3(s)  +  3H2SO4(aq) 


Al2(SO4)3(aq)  +  3H2O(l)    (1

12. 
Butane 
(1
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13. 
ionization energy-minimum energy required to remove an electron form the outermost energy level in the gaseous state
Electron affinity-energy released when an atom gains an electron in the gaseous state.

Na2CO3(aq)  + MgSO4(aq) 

MgCO3(s)  +  Na2SO4(aq)

CO32-(aq)  + Mg 2+(aq) 


MgCO3(s)

(1











( MgSO4 / CaSO4)

14. 
(a) HCl acid
             b) 

15. 
760 x V     =    722 X 7
                               298                 455

= 4.4dm3
24dm3   - Mol

4.4dm3
4.4   = 0.18mol 


 24

                                       Mass = 0.18 x 64 = 11.52g
16. i) Z
      ii)Y

       iii) X
17. 
Monomer 
CH2     -
CH

( ½ 







CN


RMM of monomer 
=
36 + 3 + 14 = 53 ( ½ 


No of monomers 
=
5194  ( ½ 
= 98 ( ½ 

18. a) 



               53 

i) Potassium
ii) chlorine gas
      b) cathode 2K+(l) +2e¯                    2K(s)
           Anode 2Cl¯ (l)                       Cl2(g) + 2e¯
19.- its less dense than air
       -Its unreactive

20. -closure of air hole leads to insufficient supply of air hence incomplete combustion of gas. 

     - incomplete combustion of gas produces tiny carbon particles which glow yellow when heated

21. a) -level of water in boiling tube reduces/Gas is collected in boiling tube

       Chloric (I) acid present in chorine water decomposes in sunlight producing oxygen gas and HCl acid. 
      b) No gas wil be collected in the boiling tube. 

          Chlorine dissolves in tetrachloromethane but remains in molecular form thus no chloric (I) acid is formed.

23. a) 


   

(i) W – Sodalime  / NaOH

(ii) Y  -  Sodium carbonate Na2CO3  √1mk
b)   
yH 
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24. 
Add excess Cu to HNO3 (1, filter the mixture, add excess soluble carbonate filter ( rinse residue with    

            water  and dry residue between filter papers






//


Heat copper metal in excess air. Add excess CuO to H2SO4 and warm (, filter ( ½ then add soluble 
            carbonate (1, filter ( ½ . rinse residue with  water  and dry residue between filter papers
25. 
(i) 
C  (1


(ii) 
A (1

(iii) B (1

26. 
a) reducing property/reduction
b) i) Yellow/red-brown colour of bromine water is decolourised

    ii) SO2 reduces bromine water to colourless hydrobromic acid while itself is oxidized to sulphuric (VI) acid.
27.
a) Oxygen;

b) 4NH3(g) + 5O2(g)

4NO(g) + 6H2O(g)
c) 2NO2(g) + H2O(l)                      HNO2(aq) + HNO3(aq)
28. 
(a) 
Pollution is the presence of harmful substances in the atmosphere (1


(b) 
(i) Particles – particulate carbon ( ½ / lead ( ½ / dust 



(ii) 
SO2 ( ½ , H2S ( ½ , NO2, CO

29. 
(a)- add the liquid to anhydrous copper (ii) sulphate. 

                -Anhydrous copper (ii) sulphate changes from white to blue hydrated copper (ii) sulphate

            b) -freeze the liquid. Freezes at 0oC  /

                 -boil the liquid. Boils at 100oC at se level
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